









- in regular expression lingo, these serve as names of expressions
- start non-terminal: the first symbol to be expanded

Prof. Bodik CS 164 Lecture 6



Prof. Bodik CS 164 Lecture 6

Derivations

- This is how a grammar generates strings:
 - think of grammar rules (called <u>productions</u>) as rewrite rules
- <u>Derivation</u>: the process of generating a string
 - begin with the start non-terminal
 rewrite the non-terminal with some of its productions
 - 3. select a non-terminal in your current string
 - i. if no non-terminal left, done.
 - ii. otherwise go to step 2.

Prof. Bodik CS 164 Lecture 6

9



$E \rightarrow (E) \rightarrow (E^*E) \rightarrow (E^*E) \rightarrow (n + E^*E) \rightarrow (n + id^*E) \rightarrow (n + id^*id)$ $\rightarrow (n + id^*id)$







































Summary of Recursive Descent

- Simple and general parsing strategy - Left-recursion must be eliminated first
 - ... but that can be done automatically
- Unpopular because of backtracking
 - Thought to be too inefficient
- In practice, backtracking is eliminated by restricting the grammar

Prof. Bodik CS 164 Lecture 6

31